BID RESULTS

SOLICITATION NO. W912P8-05-B-0039

CONTRACT NO. W912P8-06-C-0142

ATCHAFALAYA BASIN, GULF INTRACOASTAL WATERWAY (GIWW) AND MISCELLANEOUS PROJECTS CUTTERHEAD DREDGE RENTAL CONTRACT NO. 3-2005, ST. MARTIN AND ST. MARY PARISHES, LOUISIANA

3-BIDDERS

WEEKS MARINE, INC.	\$3,335,031.00	(L)	(LOT 5)	LOWEST BIDDER
MIKE HOOKS, INC.	\$3,840,251.00	(L)	(Lot 4)	
PINE BLUFF SAND & GRAVEL CO	\$4,029,851.00	(L)	(Lot 2)	

CONTRACT SPECIALIST

DATE_____

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOL	ICITATION NUN W912P8-0		2. DATE ISSUED 04 MAR 200	3. DATE OPEN 5 20 APR		PAGE OF	PAGES	-		
P.O.	IG OFFICE RMY ENGINEER DISTRICT, NOD BOX 60267 ' ORLEANS, LA 70160-0267			IFY that I have orded on this	e opened, read, abstract all	NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE) ALINE SMITH							
Lot FIVE, 30 IN ID PUMP DISCHARGE WITHOUT SUBMERGED PUMP				eceived in res		SIGNATURE			DATE SIGNED]		
5. PROJE	CT TITLE		-		NT ESTIMATE omplete D, E, and F)	,	9. OFF						
ATCHAFALAYA BASIN, GULF INTRACOASTAL WATERWAY (GIWW) AND MISCELLANEOUS PROJECTS CUTTERHEAD				A. HIRED LA	1 , , , ,	NO. 1 NO. 2 A. OFFEROR A. OFFEROR Weeks Marine, Inc. A. OFFEROR				NO. 3 A. OFFEROR			
DREDGE PARISHE	RENTAL NO. 3-2005, ST. MARTIN AN S, LA OM-	B. REASONABLE CONTRACT (Without Profit)			304 GAILLE DRIVE			B. BID SECURITY (Type and amount)		B. BID SECURI	TY (Type and amount)		
6. NUMBI	ER OF AMENDMENTS ISSUED 0002			C. REASON (Including	ABLE CONTRACT	C. AMENDMENTS A	ON, LA 70433	C. AMENDM	ENTS ACKNOW	LEDGED	C. AMENDMEN	IENDMENTS ACKNOWLEDGED	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNIT PRICE	D. UNIT PRICE	E. ESTIMATED AMOUNT	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATE AMOUNT	ED	D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	MOBILIZATION AND DEMOBILIZATION OF HOPPER DREDGE	1	LS	XXX	741,500	XXX	885,000	XXX			XXX		
0002	ADDITIONAL MOBILIZATION DUE TO IDLE STANDBY PERIOD	1	EA	XXX	21,540	XXX	1.00	XXX	XX	Х	XXX	XXX	
0003	DREDGING: Rental of one fully operated cutterhead dredge with 30-inch ID pump	XXX	XXX	XXX	XXX	XXX	XXX	XXX	XX	х	XXX	XXX	
	Discharge, attendant plant and discharge pipeline as specified	585	HR	3,471	2,030,535	2,635	1,541,475						
Option 0004	DREDGING-Same plant listed in Item No. 0003 of this bid lot	293	HR	3,471	1,017,003	2,635	772,055						
0005	DREDGE TOWING SERVICE	40	МІ	224	8,960	350	14,000	XXX			xxx		
0006	PICKET BOAT												
0006AA	FIRST 250 HOURS	250	MI	407	101,750	350	87,500						
0006AB	ALL OVER 250 HOURS	100	МІ	407	40,700	350	35,000						
	TOTAL LOT FIVE BID				\$3,961,988.00		\$3,335,031.00						
NON 7540	-01-150-0981 501419	101		NOTE: If mean	than two offers are reco	aived continue on OF	14100	PTIONAL FOR	DM 1440	(14 00)	Brogorihod by Of	SA - FAR (48 CFR) 53.23	

AB	STRACT OF OFFERS - CONSTRU	CTION	1. SOLI	ICITATION NUMI W912P8-05-		2. DATE ISSUED 04 MAR 200	3. DATE OF 5 20 A	PENED PR 2006	PAGE 0F PAGE	S			
4. ISSUIN						NAME AND TITLE OF	CERTIFYING OFFICIA	L (TYPE)	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	-			
P.O.	RMY ENGINEER DISTRICT, NOD BOX 60267						ALINE	SMITH					
NEW	ORLEANS, LA 70160-0267			IFY that I have	• • •								
LOT F	OUR, 27 IN ID PUMP DISCHARGE WI	ГНОИТ		orded on this a eceived in respo		SIGNATURE			DATE SIGNED				
	GED PUMP		solicitat		•				24 FEB 2005				
5. PROJE	CT TITLE		8. GOVERNMENT ESTIMATE (Check A, B or C and complete D, E, and F)			NI	9. O	FFERS	NO. 2				
	LAYA BASIN, GULF INTRACOASTAL V ND MISCELLANEOUS PROJECTS CU			A. HIRED LAE		A. OFFEROR	J. 1	A. OFFEROR	HOOKS, INC.	A. OFFEROR	NO. 3		
DREDGE PARISHE	RENTAL NO. 3-2005, ST. MARTIN AN S, LA OM-	D ST. MARY 05-067		B. REASONA (Without Pr	BLE CONTRACT	B. BID SECURITY (T	ype and amount)	B. BID SECUR	ITY (Type and amount)		ITY (Type and amount)		
6. NUMBE	ER OF AMENDMENTS ISSUED 0002				BLE CONTRACT	C. AMENDMENTS A	CKNOWLEDGED		NTS ACKNOWLEDGED AKE, LA 70611	C. AMENDMEN	ITS ACKNOWLEDGED		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNIT PRICE	D. UNIT PRICE	E. ESTIMATED AMOUNT	F. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT		
0001	MOBILIZATION AND DEMOBILIZATION OF HOPPER DREDGE	1	LS	XXX		ХХХ		xxx	1,250,000	XXX			
0002	ADDITIONAL MOBILIZATION DUE TO IDLE STANDBY PERIOD	1	EA	XXX	XXX	ХХХ	XXX	1.00	1.00	XXX	XXX		
0003	DREDGING: Rental of one fully operated cutterhead dredge with 27-inch ID pump	XXX	xxx	XXX	XXX	ХХХ	ХХХ	XXX	XXX	XXX	XXX		
	Discharge, attendant plant and discharge pipeline as specified	723	HR					2,250	1,626,750				
Option 0004	DREDGING-Same plant listed in Item No. 0003 of this bid lot	361	HR					2,250	812,250				
0005	DREDGE TOWING SERVICE	40	MI	XXX		XXX		500	20,000	XXX			
0006	PICKET BOAT												
0006AA	FIRST 250 HOURS	250	MI					375	93,750				
0006AB	ALL OVER 250 HOURS	100	MI					375	37,500				
	TOTAL LOT FOUR BID								\$3,840,251.00				

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOLI	W912P8-05-		2. DATE ISSUED 04 MAR 200		DATE OF 20 AI	PR 2006	PAGE 0F	PAGES		
						NAME AND TITLE O	F CERTIFYING	G OFFICIAL	. (TYPE)			-	
	RMY ENGINEER DISTRICT, NOD BOX 60267				ALINE SMITH								
NEW	ORLEANS, LA 70160-0267			IFY that I have orded on this a									
	WO, 24 IN ID PUMP DISCHARGE WIT	offers re solicitat	eceived in resp ion.	onse to this	SIGNATURE	GNATURE DATE SIGNED 24 FEB 2005				7			
5. PROJECT TITLE				GOVERNMEN [®]				9. O	FFERS				
тоцаел	ALAYA BASIN, GULF INTRACOASTAL		(Check A	A, B or C and cor	mplete D, E, and F)	A. OFFEROR	IO. 1		A. OFFEROR	NO. 2		NO. 3 A. OFFEROR	
	ND MISCELLANEOUS PROJECTS CU			A. HIRED LA	BOR	A. OFFEROR			A. OH LKOK				Sand & Gravel Co
	DGE RENTAL NO. 3-2005, ST. MARTIN AND ST. MARY ISHES, LA OM-05-067			B. REASONA (Without P	BLE CONTRACT	B. BID SECURITY (Type and amount)		B. BID SECURITY (Type and amount)		mount)	B. BID SECURITY (Type and amour POBox 7008		
. NUMBI	UMBER OF AMENDMENTS ISSUED 0002			C. REASONA (Including	BLE CONTRACT Profit)	C. AMENDMENTS ACKNOWLEDGED			C. AMENDMENTS ACKNOWLEDGED		EDGED	C. AMENDMENTS ACKNOWLEDGED Pine Bluff, AR 7161	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNIT PRICE	D. UNIT PRICE	E. ESTIMATED AMOUNT	G. ESTIN AMOU	MATED INT	D. UNIT PRICE	E. ESTIMAT AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT
0001	MOBILIZATION AND DEMOBILIZATION OF HOPPER DREDGE	1	LS	XXX		xxx			XXX			xxx	1,400,000
0002	ADDITIONAL MOBILIZATION DUE TO IDLE STANDBY PERIOD	1	EA	XXX	XXX	XXX	XX	Х	XXX	X>	(X	xxx	1.00
0003	DREDGING: Rental of one fully operated cutterhead dredge with 24-inch ID pump	XXX	XXX	XXX	XXX	xxx	XX	Х	XXX	XX	x	xxx	XXX
	Discharge, attendant plant and discharge pipeline as specified	914	HR									1,850	1,690,900
Option 0004	DREDGING-Same plant listed in Item No. 0003 of this bid lot	457	HR									1,850	845,450
0005	DREDGE TOWING SERVICE	40	МІ	xxx		XXX			XXX			150	6,000
0006	PICKET BOAT												
0006AA	FIRST 250 HOURS	250	MI									250	62,500
0006AB	ALL OVER 250 HOURS	100	MI									250	25,000
	TOTAL LOT TWO BID												\$4,029,851.00